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07.  
 

1. 
A. 


     





 
 
 
 
 
     


2. 
A. 







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
3. 

 A. 



P, Q  R ‘P’    
    ‘A’  

 
 
 
 
 
 
 
 
 
 
    ‘PQ’ 

‘PR’ 





(d) . 


(D)   

     n = = 
ௌ௜௡(ಲశವమ )

ௌ௜௡(ಲమ)
  

 
4. 
A. 







    
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



40o  2o VIBGYOR     
    
5. 

A. 












6. 

A.            :: 
    -1: 


(VIBGYOR) 
 

 
     -2: 





(VIBGYOR) 
 

 

       

7. 
A.  
    :   i1 = x + r1   x = i1 – r1 
    i2 = y + r2   y = i2 - r2 
    ∆OMN : d = x + y 
     d = (i1 – r1) + (i2 - r2) 

  d = (i1 + i2) - (r1 + r2) ……..(1) 
 
 
 
 
 
 
 
 
 
    ∆PMN :                  A + x + y = 180o 
  A + (90o-r1) + (90o-r2) = 180o 
     A + 180o – (r1 + r2) = 180o 
                                  A = (r1 + r2) ….(2) 
    (1)+(2)  :   A  +  d  = i1  +  i2  ……….(3) 
     : n1 Sin i  = n2 Sin r 
     ‘M’  
 n1 = 1 , n2 = n ;   i = i1 , r = r1 ; 
      Sin i1 = n Sin r1  n = ௌ௜௡	௜భ

ௌ௜௡	௥భ
 ….(4) 

     ‘N’   
 n1 = n , n2 = 1 ;   i = r2 , r = i2 ; 
      n Sin r2 = Sin i2  n = ௌ௜௡	௜మ

ௌ௜௡	௥మ
 ….(5) 

     i1 = i2 (d)=(D)  

     (3) :    A + D  = 2 i1   i1 = ஺ା஽
ଶ

  …..(6) 

     (4) & (5)  :  ௌ௜௡	௜భ
ௌ௜௡	௥భ

 = ௌ௜௡	௜మ
ௌ௜௡	௥మ

  

      i1 = i2   Sin r1  = Sin r2  r1  =  r2  

      (2)  :        A = 2 r1  r1  = ஺
ଶ
   ……….(7) 

         

            n  = :  ௌ௜௡	௜భ
ௌ௜௡	௥భ

 = 
ௌ௜௡(ಲశವమ )

ௌ௜௡(ಲమ)
 

8. λ1 n1 
n2 






 
 

 

 
 

P 
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A.                  
   -1       λ1                                      n1 
   -2           λ2                                      n2 

(n1) = 
௖	(ȊనŪం	లĐ	ĥాంǳ	ĺÂగమ�)

							௩భ	(య�నకంିଵ		లĐ	ĥాంǳ	ĺÂగమ�)
 

(n2) = 
௖	(ȊనŪం	లĐ	ĥాంǳ	ĺÂగమ�)

							௩మ	(య�నకంିଶ		లĐ	ĥాంǳ	ĺÂగమ�)
 

    :         ௡భ
௡మ

 = ௩మ
௩భ

   

  ௡భ
௡మ

 = ఒమ
ఒభ

ݒ]             =     [ߣߴ

 λ2  = ߣଵ.௡భ
௡మ

 

NOTE: For questions 9 and 10 the following options are  
            given. Choose the correct option by making  
            hypothesis based on given assertion and  
            reason. Give an explanation. 
     a. A  R . 
       R A   
     b. A  R . 
       R A   
     c. A R . 
     d. A  R  
     e. A R . 
9.  (A): 


     (R): 


A.  : b   
    A  R . 
             R A   
    : 



10.  (A): 

       (R): 

A.  : c   
    A R .  
    : 





11. 

A.  





(VIBGYOR)  

 

 
       


13.  (AB) 

AC 



 
A.  
  
 
 
 
 
14. 


A. 











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 
 

 

 
 
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15. 




A.  








16. 

A. 



     



     



     


17. 

A. 







18. 


A. 



19. 

A. 








20. 40o 
30o 


A.                       (i) = 40o 
              (D) = 30o 
      :                 A + D = 2 i 

  A  =  2 i – D 
 A  =  2(40o) – 30o  
 A  = 80o – 30o = 50o 

            (A) = 50o 

                    (r) = ஺
ଶ
 = ହ଴

ଶ
 = 25o 

21. 100 



A.         (f) = 100 cm 
      ‘d’ 
           :     f   = ଶହௗ

ௗିଶହ
  

   100 = ଶହௗ
ௗିଶହ

 
    100݀ − 2500 = 25݀ 
     75݀ = 2500 
      ݀			 = ૛૞૙૙

ૠ૞
  = ଵ଴଴

ଷ
 = 33.33 cm 

       (P) = ଵ଴଴
								௙	(௜௡	௖௠)

 =  ଵ଴଴
ଵ଴଴

  = 1  
22. 



A. 







 


